= A
N = 0] &F AF S & AN A
20158 = 20 A LEHSIH L JIEISES H , 2IS€SESH DlchHatg
S A 0leha gt
Ha: MatpY SAoE 25
R SABYIIE 4 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Ol cH &HS b 18,964,979 18,644,407 320,572
= 863,000
Xl 1,500,000
J| 4,286,000
&< 12,315,979
NMetitd SHalads 235 3,469,660 3,278,660 191,000
ALY 4 1,076,200 1,065,200 11,000
QEY 2H 2| 30,000 30,000 0
403 XX S M S K201 & 30,000 30,000 0
02 SII2S 0 CHsHOH e A I 30,000 30,000 0
Oy =2y 30,000
A -HHIY AR 45,000 45,000 0
403 XX SHHS K20 & 45,000 45,000 0
02 BII2S0CHSHCHEH AFS HI 45,000 45,000 0
O=A HHIIY B2XKA(HMMHYE=X X P) 45,000
SEHAHA ZSA-HXYI|Y 2tetg] i F 100,000 100,000 0
403 XX SHHS K20 & 100,000 100,000 0
02 Z2J|2tS 0l CHSHCH & AF S HI 100,000 100,000 0
Os3d A -dHXYHIY &3 iz 100,000
Metsid 29 39,200 40,200 A 1,000
201 et 16,000 16,000 0
01 AP 2t 2] H| 16,000 16,000 0
OgerA A4 ZH| 16,000
203 SR F&d| 23,200 24,200 A 1,000
03 AIZH =X 25 X H| 23,200 24,200 A 1,000
OXMNY SHZX 23,200
TATHA R HEXE AL 850,000 0 850, 000
403 XX SHHS K20 & 850,000 0 850,000
02 BII2SOCHSCHE AFS I 850,000 0 850,000
OXNAAH HEXS AL (HE) 850,000
Ol HI=(Inno-Biz)2 ZSEEXA ALY 12,000 0 12,000
307 QI2t0| ™ 12,000 0 12,000
02 QI2tAAMAIE E =X 12,000 0 12,000
O0lHI = ASESKE ALY 12,000
P =1= == P =] 2,393,460 2,213,460 180,000
KNGS AHE(RIC) N (Z2HEEXH) 400,000 400,000 0
403 XX SRS R 20| & 400,000 400,000 0
02 2II2S0CHeCH& A I 400,000 400,000 0




S A 0leHar ot
M metael Haoz 23
ol MSEE Haa CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OXSEAHEE(RIC) N (THS) 400,000
MEHEHE JEIHEAMY X (ZHREXH) 1,000,000 1,000,000 0
403 XX SH M S K201 1,000,000 1,000,000 0
02 S| 2SO0l CHstCH & At bl 1,000,000 1,000,000 0
Oltstas e JIsIHEAIY X () 1,000,000
ESHRNL TN FH2AAIL (2HIRE XS 200,000 200,000 0
403 X SHMS K201 A 200,000 200,000 0
02 2JI 2SOl CHEHCH & AR b 200,000 200, 000 0
SEANLRNIH2IANG(HE) 200,000
St=29 DI0lAHD SSXS(2HIAEXH) 100,000 100,000 0
308 AXISHXMSOIH 100,000 100,000 0
08 WEII2MHstE = 100,000 100,000 0
Ost=d OI0IAHIL(ZEEWUHX D) XS (U
2) 100,000
NEADMASHAIS (RIS)(ZHIAE X ) 180,000 50,000 130,000
403 ItXISHHSA201H 180,000 50,000 130,000
02 3J| 2 S 0l CH St CH & AF R B 180,000 50,000 130,000
OXNEADNMASHAMNE(HE) 180,000
A Us I =0 SHXJAY 18,000 18,000 0
403 ItXISHXM S K201 18,000 18,000 0
02 B3I 2SOl CH St CH & AFR B 18,000 18,000 0
oodustliso SHXAANG(UHS) 18,000
AWM Mot S2AY XI& 80,000 80,000 0
403 ItXISHXMS K201 80,000 80,000 0]
02 2|2+ S Ofl CH 5 CH 3 AL 2 Bl 80,000 80,000 0
OHFILM Het S2AE XI& 80,000
E=WESELH 24 -2 50,000 50,000 0
403 X SHHMS K201 50,000 50,000 0
02 3|2t S 0fl CH StCH & At b 50,000 50,000 0
Os=lsxyd 4 - 29 50,000
B 828 HO2HAH ZHEAMIY(2HIXEXH) 20,000 20,000 0
403 IR SHHSA201 A 20,000 20,000 0
02 3J|2 S 0l CH St CH & AF R B 20,000 20,000 0
OHYZ =8 HOIZ2HAH Z&EAIY (HHE) 20,000
BFE A HIOI2HAEH ZAHAAMY(Z2HREIH) 20,000 20,000 0
403 ItXIHXMSA201 & 20,000 20,000 0
02 BII2SHCHSCHE AFS I 20,000 20,000 0




S Olefa g
Mo metag slaoie 23
chel: MEtE 245 CER-ED
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OB'E M EHIOIZSAH LA (UHHS) 20,000
AretEE G S HEH(LING) S & ALY 275,460 275,460 0
403 MHXISHE X201 & 275,460 275,460 0
02 S| 2SO0 CHSHTHE AL B 275,460 275,460 0
Oustg A d TS (LING)SHE ALY XA (US) 275,460
DE2E I8 MESEAXAAE 2SAL (2] 50,000 0 50,000
EPED
403 MtXISHH S A0l & 50,000 0 50,000
02 2SI 2 S 0ll CH &HCH & AF S HI 50,000 0 50,000
O3pZd Jisdie MESEAXAEH 2= A
gd(is) 50,000
detstey |4 15,129,275 15,004,375 124,900
= 863,000
X 1,500,000
| 4,286,000
< 8,480,275
B2 oY §4 5,960,775 7,730,875 A 1,770,100
| 4,286,000
< 1,674,775
JOTI18r 2401 Jl=X & A 200,000 200,000 0
403 Ut SHHSA=0l& 200,000 200,000 0
02 SJ12SO0ll CH SHCH & AF 2 HI 200,000 200,000 0
Ogme A0/ JI=XNIMS(UHS) 200,000
del delXl =4 AtY 26,775 30,735 A 3,960
403 MtXISHHE X201 & 26,775 30,735 A 3,960
01 XS M A=2EE 26,775 30,735 A 3,960
Ol gelXl =48AMY XNI(HS 26,775
ATHA0 X KSR & A 2,432,000 2,378,000 54,000
| 2,432,000
403 XIS E X201 & 2,432,000 2,378,000 54,000
| 2,432,000
01 AXSHMA=2E X 2,432,000 2,378,000 54,000
OAITH 0 X XIS XA 2,432,000
| 2,432,000
BHed =822 MY 300,000 600,000 A.300,000
403 UHXSHHSA=0l& 300,000 600,000 A300,000
01 X ESHHMA=2LE L 300,000 600,000 A300,000
OHYLY Fae83 AMG(US) 300,000
Sctdel =4 221,000 221,000 0
201 LB-2E| 10,000 10,000 0




S A Dlefat

[o2]
=
Ho: Heay
A

& 2t =S4
Co sy 84 (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 10,000 10,000 0
Osctgel 24 29 10,000
202 04l 13,000 13,000 0
12O 3,000 3,000 0
Osctel HRF=A AL 3,000
03 22 S R0l 10,000 10,000 0
OHLZ HAAMNE HE2sS IFALR0H| 10,000
403 A X EHHS =0l A 198,000 198,000 0
02 SO 2SI CHSHHEH AH B 198,000 198,000 0
OOtAIOH &Eeteel =2 24 38,000
Ot o2 DHAHE XI& 100,000
OHZ& 22U oHE X 60,000
2 BHSZAE XA 1,854,000 2,400,000 A 546,000
J| 1,854,000
403 UHXISHE X201 H 1,854,000 2,400,000 A 546,000
J| 1,854,000
TAXEH =2 X 1,854,000 2,400,000 A 546,000
OZE2Y HIZAE XA (=2I13) 1,854,000
J| 1,854,000
ScHHAEY 300,000 300,000 0
403 UHXSHHSA=0l& 300,000 300,000 0
02 S| 2SO0l CH&HCH & A HI 300,000 300,000 0
02015 SctHAEIE JHA 300,000
SEHLALENS 0N EH 300,000 150,000 150,000
307 21201 A 300,000 150,000 150,000
08 OIXt2& = 300,000 150,000 150,000
OS=StHe2EdI= 0XEA 300,000
HiZelHolAld e XM (2HIEEXH) 297,000 380,000 83,000
403 A X EHS =0l A 297,000 380,000 283,000
01 X SHHX2E = 297,000 380,000 A83,000
OHlgelgoAld B XML (UHS) 297,000
SSTH AHHLE ESXE AEAY 30,000 0 30,000
403 MHXSHHSA=0l& 30,000 0 30,000
01 X SHHMA=LE L 30,000 0 30,000
OZsH A8t 2SXE AMEAZ 30,000
NS MAHS S ALY 9,168,500 7,273,500 1,895,000
= 863,000
Xl 1,500,000
< 6,805,500




SA: OleHat
2

M Mg |4
el NS MM DE AL (el:de)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
SIZ2HGAHAAMATHARNY 29X S 122,500 122,500 0
306 52 122,500 122,500 0
01 592 122,500 122,500 0]
Ost=2H3AMNATHHAR Y 2H XS 122,500
ZAAMAE HAHEBANY(Z2HEXH) 98,000 572,000 A474,000
403 XX SRS K 20| & 98,000 572,000 AN474,000
02 BII2S0CHeCHE AFS I 98,000 572,000 AN474,000
OJlsd s&al SEHE 25 4 4235 &
AR (HE) 98,000
20 A S A4S 35,000 35,000 0
307 2iz2to| A 35,000 35,000 0
05 QIZ2tRE 2 35,000 35,000 0
OZ203Z3&8U3 JH=l 25,000
OZ20¢ s otatdlol HWe 10,000
BTL &2 sH2 X & ALY 863,000 863,000 0
= 863,000
403 XX SHHS K20 & 863,000 863,000 0
= 863,000
01 XS A2E X 863,000 863,000 0
OBTL M2 sta& Al U E X 863,000
= 863,000
HE=Z2M20d Ay 2,000,000 0 2,000,000
N 1,500,000
& 500,000
308 XHXIGH SO0l & 2,000,000 0 2,000,000
Xl 1,500,000
& 500,000
01 AIKISHHENEXZ 2,000,000 0 2,000,000
OFF==2H30b g XA 2,000,000
Xl 1,500,000
= 500,000
NEFSAA SHAL(ZHEAEXLH) 4,000,000 0 4,000,000
403 XX SRS R 20| & 4,000,000 0 4,000,000
02 2J| 2 S 0l CH St CH & AF R H 4,000,000 0 4,000,000
OXNYG=a M SHAAA(HE) 4,000,000
HAEUNEAN XNEMSdSH(2HIEEHIH) 250,000 0 250,000
403 XX SHHMS K201 A 250,000 0 250,000
02 SIS0 CHSHHEH AFS I 250,000 0 250,000
OEEHEAH NG H(HE) 250,000
AHEgEAAMAS SHAAL(2HEEIH) 1,800,000 0 1,800,000
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Y EETY
o e
X

o4 2

SA - ZE-B(EN) - NRAY - B S il &t o il

MHPES(0l2Ha ) 240,450 240,450

28XE 240,450 240,450

B&XE 240,450 240,450

705 =3 Acl34E 240,450 240,450

04 Al - EXISOHE D 3 0l === 0] Kh&F & 240,450 240,450
OIITINEERFSLUY ASAEdZeteEs 198,450
OAMAEIICEAN R Z eSS 42,000




